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i=1%

n
(F/Pi,n) (P/Fi,n) (F/Ain) (A/Fi,n) (P/Ai,n) (A/P,i,n)
1 1.01000 0.99010 1.00000 1.00000 0.99010 1.01000
2 1.02010 0.98030 2.01000 0.49751 1.97040 0.50751
3 1.03030 0.97059 3.03010 0.33002 2.94099 0.34002
4 1.04060 0.96098 4.06040 0.24628 3.90197 0.25628
5 1.05101 0.95147 5.10101 0.19604 4.85343 0.20604
6 1.06152 0.94205 6.15202 0.16255 5.79548 0.17255
7 1.07214 0.93272 7.21354 0.13863 6.72819 0.14863
8 1.08286 0.92348 8.28567 0.12069 7.65168 0.13069
9 1.09369 0.91434 9.36853 0.10674 8.56602 0.11674
10 1.10462 0.90529 10.46221 0.09558 9.47130 0.10558
11 1.11567 0.89632 11.56683 0.08645 10.36763 0.09645
12 1.12683 0.88745 12.68250 0.07885 11.25508 0.08885
13 1.13809 0.87866 13.80933 0.07241 12.13374 0.08241
14 1.14947 0.86996 14.94742 0.06690 13.00370 0.07690
15 1.16097 0.86135 16.09690 0.06212 13.86505 0.07212
i =2%
n
(F/P,i,n) (P/Fi,n) (F/A,i,n) (A/Fin) (P/A,i,n) (A/Pi,n)
1 1.02000 0.98039 1.00000 1.00000 0.98039 1.02000
2 1.04040 0.96117 2.02000 0.49505 1.94156 0.51505
3 1.06121 0.94232 3.06040 0.32675 2.88388 0.34675
4 1.08243 0.92385 4.12161 0.24262 3.80773 0.26262
5 1.10408 0.90573 5.20404 0.19216 4.71346 0.21216
6 1.12616 0.88797 6.30812 0.15853 5.60143 0.17853
i =3%
n (F/Ri,n) (P/Ei,n) (F/Ai,n) (A/Ei,n) (P/Ai,n) (A/Pi,n)
1 1.03000 0.97087 1.00000 1.00000 0.97087 1.03000
2 1.06090 0.94260 2.03000 0.49261 1.91347 0.52261
3 1.09273 0.91514 3.09090 0.32353 2.82861 0.35353
4 1.12551 0.88849 4.18363 0.23903 3.71710 0.26903
5 1.15927 0.86261 5.30914 0.18835 457971 0.21835
6 1.19405 0.83748 6.46841 0.15460 5.41719 0.18460
i =6%
n
(F/Pi,n) (P/Fi,n) (F/A,i,n) (A/Fi,n) (P/Ai,n) (A/P)i,n)
1 1.06000 0.94340 1.00000 1.00000 0.94340 1.06000
2 1.12360 0.89000 2.06000 0.48544 1.83339 0.54544
3 1.19102 0.83962 3.18360 0.31411 2.67301 0.37411
4 1.26248 0.79209 4.37462 0.22859 3.46511 0.28859
5 1.33823 0.74726 5.63709 0.17740 4.21236 0.23740
6 1.41852 0.70496 6.97532 0.14336 4.91732 0.20336
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i =10%

n
(F/Rin) | (P/Ein) (F/Ai,n) (A/Fin) (P/Ain) (A/Pn)
1 1.10000 0.90909 1.00000 1.00000 0.90909 1.10000
2 1.21000 0.82645 2.10000 0.47619 1.73554 0.57619
3 1.33100 0.75131 3.31000 0.30211 2.48685 0.40211
4 1.46410 0.68301 4.64100 0.21547 3.16987 0.31547
5 1.61051 0.62092 6.10510 0.16380 3.79079 0.26380
6 1.77156 0.56447 7.71561 0.12961 4.35526 0.22961
7 1.94872 0.51316 9.48717 0.10541 4.86842 0.20541
8 2.14359 0.46651 11.43589 0.08744 5.33493 0.18744
9 2.35795 0.42410 13.57948 0.07364 5.75902 0.17364
10 2.59374 0.38554 15.93742 0.06275 6.14457 0.16275
i =12%
n
(F/P,i,n) (P/Ei,n) (F/Ai,n) (A/Fji,n) (P/Ai,n) (A/Pi,n)
1 1.12000 0.89286 1.00000 1.00000 0.89286 1.12000
2 1.25440 0.79719 2.12000 0.47170 1.69005 0.59170
3 1.40493 0.71178 3.37440 0.29635 2.40183 0.41635
4 1.57352 0.63552 4.77933 0.20923 3.03735 0.32923
5 1.76234 0.56743 6.35285 0.15741 3.60478 0.27741
6 1.97382 0.50663 8.11519 0.12323 4.11141 0.24323
7 2.21068 0.45235 10.08901 0.09912 4.56376 0.21912
8 2.47596 0.40388 12.29969 0.08130 4.96764 0.20130
9 2.77308 0.36061 14.77566 0.06768 5.32825 0.18768
10 3.10585 0.32197 17.54874 0.05698 5.65022 0.17698
11 3.47855 0.28748 20.65458 0.04842 5.93770 0.16842
12 3.89598 0.25668 24.13313 0.04144 6.19437 0.16144
13 4.36349 0.22917 28.02911 0.03568 6.42355 0.15568
14 4.88711 0.20462 32.39260 0.03087 6.62817 0.15087
15 5.47357 0.18270 37.27971 0.02682 6.81086 0.14682
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